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[English version]

Answer any ten questions from the following: [10 x 2 = 20]

State the characteristics of simple harmonic motion.

Write down the differential equation for damped vibratory motion explaining the physical
significance of each term in the equation.

The equations of two simple harmonic motions are x = 1.00 x 1072 Sinwt and y =

1.732 x 1072 Sinwt. The S.H. Ms are acting simultaneously on a particle. Find the resultant
amplitude and the angle made by the resultant with x-axis.

Write down Young’s law for plucked string.

What are the initial conditions to form the differential equation of a struck string?

Write down the statement of Fourier’s theorem.

Mention the difference between interference and diffraction.

What are the conditions of path difference and phase difference for destructive interference?
“Two separate sources cannot produce interference of light” — Justify this.

Write down two differences between Fresnel and Fraunhofer diffraction.

In a Newton’s ring experiment, the diameter of the fifth ring is 0.336 cm and the diameter of the
15" ring is 0.590 cm. Find the radius of curvature of the plano-convex lens, if the wavelength of
light used is 5890 A° .

What is zone plate?

What is optical activity?

Why the centre of the Newton’s ring is dark?

Define angle of polarization.
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